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soft bed.
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2. disagree with

3. election campaign
4. writing a script
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6. organize a meeting
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F.

1. concentration, Try to concentrate on the
video you are watching.

2. marriage, Samantha and Tom will marry
each other next month.

3. celebrate, Let's have a celebration this



ANSWER KEY

coming weekend.
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Unit 11
Exercise

pp. 58~59
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Uni

pp. 62~63
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pp. 66~67
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2. provide

.a
5.b
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Unit 13
Exercise

1. youth

3. injury

5. sunlight

1. cough
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3. soap
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Unit 14

Exercise

pp. 70~71
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1.

4.d
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2. opposite

2. b, d 3. b, c 3. personal
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Unit 15

Exercise pp. 74~T5
A.

1. e 2.b 3.h
4.9 5.¢ 6. a
7.d 8. f

B.

1. avenue 2. within

3. heritage 4. exit

5. warm 6. spare

C

1. drawer

2. repair

3. supper

4. front

5. item

6. downstairs
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k ANSWER KEY

Exercise pp. 76~79

A.

1. bite 2. satellite

3. describe 4. tragedy

5. miracle 6. deeply

7. vehicle 8. opposite

B.

l.e 2.a 3.b

4. b 5.d
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2.0 s8= 22171 23t 2 SMg 322 =
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C.

1. construction 2. incredible

3. able 4. mess
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1. patient person 2. in a panic

3. fire exit 4. contains poison
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F.

1. wounded, His wound is healing very slowly.
2. electricity, Refrigerators are popular electric
appliances.

3. usually, Her usual breakfast is bacon, eggs,

and toast.

4. badly, He made a bad mistake during the
play.

5. difference, Please explain how the two

animals differ.
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Unit 16

Exercise

pp. 82~83
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Unit 17
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pp. 86~87
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Unit 19

Exercise pp. 94~95
A.
2.b 3.a
4. 5.¢
B.
1. safety 2. chase
3. notice 4. fact
5. typical 6. generally
c:
1. encouraged
2. nearly
3. unlike
4. customs
5. instructs
6. weekly
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Unit 20

Exercise pp. 98~99

—_
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.a, d
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. develop
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ANSWER KEY

Exercise pp. 100~103
A.
1. beauty 2. attempt
3. adapt 4. exist
5. reflect 6. bitter
7. practical 8. unlike
B.
2.¢ 3.a
4 5b
1. d= Bl JALE} SO0 AXLt EHESHE
2. 1 /= =0AM AtSE ezt UL
3. FE 2= fe|0fA =0| gltt= ZAOILt
4. A= o] EZ20| SA| CHERC
51 Ok BE7|= E= 258 =2t ot
C.
1. regular 2. value
3. dirty 4. conclusion
5. encourage
1. #EHQ 288 sh= A2 ECt
2. N ZEHX|Q| 7HX|= HOrRlzte?
3. 1= A= 0% HELH
4. JH= X O EXMo| ZEE 1 ULt
5. ddHE2 27t G| SRSEE A
L
D.
1. apply
2. clapped
3. chores
4. suppose
5. since

28

. supply food

. poured a drink

. in cash

E
1
2
3. not nearly
4
5. perfect method
6

. Ancient history

1. SREE2 DAt 20| A= MESOAH SM2
Seettt.

2.Don2 19| &H ZX0|A SEE WERIC

3.8 EMe HH EX| Lt

4. O MEER2 H32E EUUS KBSt A2
d= ot

5 0140 O =MHe size etHe Lol

6. 1O FAt= O|FE AFE ZFoirt

F.

1. discussion, We like to discuss different

topics with our friends.

2. product, It takes a short time to produce
that item.

3. appointment, Alice was appointed the
leader of the group.

4. discovery, He hopes to discover a cure for
the disease soon.

5. allowance, Her parents allow her to play



ANSWER KEY

games on weekends.

ol

kfo

Jld
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3. Alice
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5. Ao REH2 A7t FRof A

Jol
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sl
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Across

4. law

2. exist

7. quality

5. determine

9. customer

8. valuable

Down

3. survive

1. aware

6. education

3b
4. They gave lectures on important facts to

c

a

students.

5. They would tell their students to notice

everything they saw.

S

St CHY

8 7t2x7| ¢

=

A

ujJ

ol
1l

o @

29



E

=
(i

off A

=

4. F
AErEol 1

=

==

b2 227t AL
3.7

se o

2.T
Abet
opejstct

F

-
[=]
—

I F
1. 07|
AL,
3. 24

pp. 106~107

3.h
6. b
3.A

6. S
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B
8.d
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Unit 21
S

Exercise

4.8

1.

_||_
oju
ofo

Ct.

insult
2. promise
3. option
4. concerned

1.

uln

oj2 o|7|=o|ct 1EL X

5. emotion
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6. appreciates
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Unit 22

Exercise pp. 110~111
A.
2.a 3.c
4. b 5.d
B.
1. familiar 2. fence
3. bottom 4. slave
5. area 6. ideal
C.
1. worth
2. begged
3. continent
4. illegal
5. tribes
6. familiar
ol
1. 1 CiO|Ot=E ZZ0|= - 7HX7 = &
A0|Ct.
2. Tom2 =2 ZEIUX|T O J0|A =22
FX| AULCEL

3. OkAIOF CHE2 MAGA 7HE ALt

4. CHE MESEREH AXEE EX= A2 £HO|
=g

5. OfotE Erf REO0= AR2tE £FS0| UL

6. 1 F8 X|AX|22 T2 AHRO|A El=StLt

D.

1. € 2.b 3.a

4. c 5.d

ol

1. 3 Bh2 Z42Zp 49| ghdo| BEe =2 LHFOH
ULt

2. Leslie= T1149| 3|Ate| 3|&0| 2 HpZHCH

3

3. DR0jE0| W osiRES 5T FIIF siEE
uet,
4.0 0l 0f2f 7HX| A8 SS0| K2k

5. 573 Eelel Stk OIHO|CH

E.

1. population

2. tribes

3. distances

4. species
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a2 Uk
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pp. 118~119

Unit 24

Exercise
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4. continue
A

1. objects
2. jewels
3. return
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1. jewel
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3. pack
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6. gift
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Unit 25
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7.
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k ANSWER KEY

Exercise pp. 124~127
A.

1. continent 2. cell

3. emotion 4. owe

5. bubble 6. monster

7. position 8. relative

B.

1.d 2.b 3.b

4. a 5.d

1. @2 O] & HAE HZGOF Btrt

2. John2 11 Ao SXIRALE

3. 0= J0iA O 48 2Es AE Al=SiEEt
1 ULt

4. O|XHE =ZC 2 XIZ2X}

5.1 g2 B2 =48 FAlSta ULt

C.

1. distance 2. attract

3. sincere 4. perform

5. power

1. €23 FjLch= EF35| B AH2[0|Ck

2. @S2 ol &8 E0=€ = ULL

3. O£ HiRZCt= 1o &Y2 TIHO|L)
4. Eric2 ROi0IM O 27|15 Sdg A0lCh
5.1 Adx2 O & FAMO oUXE 32 =0l
R EStCt

D.

1. disappointed 2. beard

3. Fortunately 4. species

5. found

35

1. L= O Aol BO{MAM Lt Xpelof 2 RUE

2. 7t 393t HgE 7|2= 4 2537t g2t
3. CHrAAEAE, £0| 5 BO| Li2|X| BI%AEL

4. AR 25| k2 Fo HyolLt.

5. 1 SdE2 gudM M2 Sot2[E 285

Ho
rot
o

E.

1. standing behind

2. local area

3. organic vegetables

4. return home

5.in a whisper

6. chest pains

1.Jason2 12| & & F[0 M ULt

2. 1 ¥X| X¥2 3t =357F L

3.1 s8= R8s MaS8 Ol 7|BLt
4 L= 04 HAE Er ZO| SO0H2CEH
5. A=2 Sk oM £AH0|0 TRYCE
6. LA 7hs 50| UCHH 2JArf| A ZHat
F.

1. considerate, | will carefully consider the best
thing to do.

2. variety, There are various problems with the

new machine.

3. exact, She told me exactly what to do.

4. long, The length of the boat is around six
meters.

5. certainly, Jane is certain she can solve the

puzzle.

1. Lh= Fo| A Mol et

2. O M Z[A0l= CHet
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5. Jane

Across

4. worth 5. treasure

2. flavor

8. guess

7. imitate

Down

3. concern

2. footprint

1. cart

6. illegal

3.b

C

1.

4. They are not real because they are imitating

humans.

5. They might become humans’ enemies and

make humans their slaves.
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1. shore

2. southern
3. seafood
4. cave

3. O At

pp. 130~131
3.d

2. entrance
4. blend
6. tomb
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U

Exercise
1. shore
3. rare

5. ground
1. grains
2. flight
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Unit 27

Exercise pp. 134~135
A.

a 2. d 3b
4. c
B.
I.'b,d 2.a, b 3.¢d
4.a ¢
C.
1. gods
2. died
3. poor
4. Except
5. stage
6. tide
81 A4
1. A0} 2ORIE2 Be A& SHIRCH
2. Y8 AIEE2 1 EfE2= QI8 AFZUCE
3. d= 7tHsh?| =0 € =0 Aol gint
4. MarkE M QI5t1l, 2= 40| AS ULt
5. 1 Hi®= FO {0 M2 o JEUCE
6. 2= M AFRE2 S0 E2|7HK| 20 =
o

[Tk

D.

1. a 2.d 3.c

4. c 5.b

ol
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Unit 28

Exercise pp. 138~139
A.

1 f 2.d 3.b

4. e 5.k 6.9

1= € 8.a

B.

1.ad 2:lbic 3.b,c
4.a,d

C.

1. bumped

2. wood

3. joke

4. western

5. royal

6. false

ol
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D.

1. ¢ 2.b 3.d

4. a 5.¢
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2. A2 2080 s7Ee g4 Aot

3. 1 O[of7|= MDA M, 22l BF /ULt
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Unit 29

Exercise pp. 142~143
A.
b 2. € 3.d
4. a 5. €
B.
1. A 2.S 3.5
4. A 5A 6.S
C.
1. wrap
2. knock
3. obey
4. disturbed
5. shelter
6. Nowadays
5l
1. G2 dES 2ASHA BO|E8 THE7| fISHM
XS ZFBHOF St
2. 07| Ho| 28 FEZMR
3. SdE2 ol A ES WMEOF THhf
4, J7t 3RSt ¢, dH= 15 YaiRCh
5. 152 H|& foag #esfd =8 FO|CL
6. 280 =, 22l= B2 Ae7|ee AFEsnt
D.
1.d 2.b 3. a
4. c 5.b
ol
1. L= o2 MERIXIE He BE0| QUL

4. Simon2 37t & W, 7tE 42§ X|ELCH

5. d= A7| X0 =0| Ao Sitt.

40

E.

LT 2 F 3, F 4.7

o

1. Toddi= MaryOll M 7@ AFE 2 ToH
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Unit 30

Exercise pp. 146~147

3. b

5.9 6. c
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k, ANSWER KEY

Exercise pp. 148~151
A.

1. justice 2. bow

3. wrap 4. crack

5. section 6. rare

7. proverb 8. shelter

B.

1.d 2.d 3. b

4. a 5.¢
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C.

1. evidence 2. elect

3. flight 4. lock

5. poor
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3. prevent 4. expects

5. depends
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E.

1. painted a portrait

2. plant roots

3. indoor sports

4. skip school

5. plenty of

6. western side
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5. H1 S LMol 28 ol oiMa

6. 1 Lite] MZ X[ sict go|ct

F.

1. neatly, The students cleaned the classroom
and made it neat.

2. blender, You must blend everything by
stirring it together.

3. terrible, He did terribly on the test he just

took.



‘ ANSWER KEY
4. move, People usually notice a fast
movement rather than a slow one.

5. suggestion, | suggest that we go inside

before it rains.

L dx
Qt
0%
fijn
rlo
El
nx
mo
oz
>
<"
&
[
vl

Ag ZESH

o —
fjn

£Q

n J

r

2. G2 OAE e MeBM 2= A& 49
OF BhCt

3. = B3 KB A”e A S

4. AFFE2 O =2 S YLD} WE SEYe
2Ot Ct

5. L= H|IZ7t 27| Ho| 2|7t €2 S0{E A
2 Mttt

G.

Across

1. sudden 5. concrete 7. grain
8. except 9. cast

Down

2. universe 3. shelter

4. nowadays 6. skip

H.

1.d 2.a 3. b

4. He is positive he can find them.
5. He suggests that the owner call everyone

on the site.
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